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[HEADREE]
(FIEA) X (HIER) 1, REOBEXTFORMEZNENRD T, TORBEENT D,
*BENDHD L XL, LICREFEOFHEE L TEBL,
<> BabxX(—2a)=1{5X(—2)} X (ab X a)

=—10a2b
(—3x)2 X (—2xy) = 9x2 X (— 2xy) — (—3x)2=(—3x) X (—3x) =9x2
=—18x3y
[1] ORXDFHFEE LRI,
(1) (—2a)XT7ab (2) 3x2X(—xy) (3) —bHabx(—4b2)
(4) abXx(—2b)Xx4a (5) (—3a2 XbXx(—4ab)
[2] WORXDFFEE LRI,
(1) 8xXx(—2y)2 (2) (2a)2X(—3ab)
(3) (—4b)2xXabXx(—3a2 (4) —x2X(—4y) X (—y)3

(5)  2.5y2% (—8x2) X (—2xy) 6) %azx(—ab)xgb



<RE>

[1]

(1) —14a2b
(2) —3x%
(3) 20ab3

(4) —8a2b2
(5) 12a3b2

[2]

(1) 32xy?

(2 —12a%b
(3) —48a3b3
(4) —4x2y4
(5) 40x3y3

(6) —%a3b2

(1]
(1) HA=(—2X7)X(axXab)=—14a2b
(2 HHA={8X(—1D} X (xXxy)=—3x2y
(8) HA={(—5)x(—4)} X (abXb2)=20ab3
(4) HA=(—2x4)x(abXbXa)=—8azh?
(6) HHX={(—3) X (=4} x(a2XbXab)=12a3b2
[2]
(1) 5Hx=8xX4y?
= 32xy?2
(2 H:X=4a2x(—3ab)
=—12a3%b
(3) 5:X=16b2Xxabx(—3a2)
= —48a3b3
(4) HHX=—x2X(—4y) X (—y3)
= —4x2y4
(6) HA={2.5X(—8) X (—2)} X (y2 X x2 X xy)
=40x3y3
(6) Efﬁ:{%x(—l)x%}x(azxabxb)
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